
32

bl iqfLrdk ij dqN Hkh fy[kus ls igysbl iqfLrdk ij dqN Hkh fy[kus ls igys
fuEufyf[kr funsZ'k /;kuiwoZd i<+safuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1-1- viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh 
la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd 
dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh 
gSAgSA 

2-2- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- (OMR) la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu ls  la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu ls 
HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,AHkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,A 

3-3- ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad  ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (A)(A) lsls (D)(D) rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj  rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj 
esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

4-4- lHkh ç”u vfuok;Z gSaA lHkh ç”u vfuok;Z gSaA 

5-5- mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6-6- mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc 
djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhAdjus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhA 

7-7- jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA

8-8- gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj 
esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh Hkh esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh Hkh 
fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 

9-9- dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk  dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk 
ç;ksx ijh{kk d{k esa oftZr gSA ç;ksx ijh{kk d{k esa oftZr gSA 

10-10- ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj ys ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj ys 
tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSAtkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSA

11-11- iz'u i= esa fodYiiz'u i= esa fodYi ^d*] ^[k*] ^x*] ^?k* ds LFkku ij^d*] ^[k*] ^x*] ^?k* ds LFkku ij OMR Sheet esa ^d*esa ^d* ds fy,ds fy, 1, ^[k*^[k* ds fy,ds fy, 2, ^x* ds fy, ^x* ds fy, 3 rFkk rFkk ^?k*^?k* ds fy,ds fy, 
4 fodYi okyk gh xksyk dkyk djssaAokyk gh xksyk dkyk djssaA
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1- izkphu dky esa Hkkjr ds fdl fgLls dks voafrdk dgk tkrk Fkk\ 
 ,½ vo/k ch½ :gsy[kaM 
 lh½ caqnsy[kaM Mh½ ekyok 
1. Which area of India was known as Avantika in ancient times? 

 a) Avadh b) Rohelkhand  

 c) Bundelkhand d) Malwa 

2- xka/khth [kknh dks fdl pht dk izrhd ekurs Fks%& 

 ,½ vkS|ksxhdj.k  ch½ vkfFkZd vkRefuHkZjrk 

 lh½ vkfFkZd izxfr  Mh½ uSfrd 'kqfprk 

2. Gandhi Ji considered “Khadi” as a symbol of :- 

 a) Industrialization b) Economic independence 

 c) Economic Growth d) Moral Purity  

3- xsVos vkWQ bafM;k dks fdlus cuk;k Fkk\ 

 ,½ ÝSad yk,M jkbV  ch½ tkWtZ foVsV 

 lh½ ÝSad xsgjh  Mh½ tksgk gnhn 

3. Gate way of India was built by:- 

 a) Frank Llyod Wright b) George Wittet 

 c) Frank Gehry  d) Zoha Hadid 

4- Hkkjr esa vkyw dh Qly dkSu yk;k Fkk% 

 ,½ vaxzst  ch½ Mp 

 lh½ iqrZxkyh  Mh½ Ýkalhlh 

4. The Potato crop was introduced in India by the:- 

 a) British b) Dutch 

 c) Portuguese d) French   

5- 100 b;lZ okWj ;kuh 100 o"kZ dk ;q) fdu nks ns'kksa ds chp gqvk Fkk\ 

 ,½ rqdhZ vkSj vkWfLVª;k  ch½ baXySaM vkSj Ýkal  

 lh½ fQyhLrhu vkSj btjk;y Mh½ teZuh vkSj :l 

5. Which two countries were involved in a Hundred Years war? 

 a) Turkey & Austria b) England & France 

 c) Palestine & Israel d) Germany & Russia 
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196. 1 : Those that have seen the Hindus 
 P : have naturally no more doubt 
 Q : of the existence of other persons 
 R : among them in their own country 
 S : of their existence than they have 

6: whom they have met. 
  a) PSQR b) RQPS 

  c) PSRQ d) RPSQ 

197. 1 : I was not sure 
 P : to hear his voice 
 Q : in my heart of hearts 
 R : through that window once more 
 S : what I really wished 

6: or never to see him there again. 
  a) QPRS b) SQPR 

  c) PRSQ d) RSQP 

198. 1 : yet so few of us have 
 P : walls of daily routine 
 Q : the time or the means 
 R : that enclose our lives 
 S : to break through the narrow 

6: to get to know this land. 
  a) SRQP b) RPSQ 

  c) QSPR d) PQRS 

199. 1 : Religion has been used 
 P : both as a weapon of isolation 
 Q : to dull awareness 
 R : about real problems 
 S : and as morphia 

6: like education, health and employment. 
  a) PQRS b) PSQR 

  c) QPSR d) RPQS 

200. 1 : when all the number were seated 
 P : during the previous year 
 Q : the secretary came to the dias 
 R : and read out the report 
 S : detailing the activities of the organisation 

6: and plans for the coming year. 

  a) PQRS b) SPQR 

  c) RSPQ d) QRSP 
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Directions (Question no. 191 to 200): 
In the following questions the first and the last parts of the sentence are numbered as 1 to 6. The rest of the 
sentence is split into four parts as P, Q, R & S.  The four parts are not given in their proper order. Read the 
jumbled parts of the sentence and find out which of the four combination is correct :
191. 1 : I have not come 
 P : even if it means some humiliation  
 Q : but the boy must learn 
 R : to complain, he said 
 S : to be honest  
 6 : and admit he broke out window pane. 
  a) SPRQ b) QSPR 

  c) RQSP d) PRQS 

192. 1 : India has been a land 
 P : but in the sense that learning has always been very highly valued 
 Q : not indeed in the sense that education has been universal 
 R : and the learned man has been held in higher esteem 
 S : of learning throughout the ages 
 6 : than the warrior or the administrator. 
  a) PQSR b) RQPS 

  c) RSQP d) SQPR 

193. 1 : If was obvious 
 P : made by him 
 Q : submitted at the meeting 
 R : from the comment 
 S : on the draft proposal 
 6 : that he was not satisfied with them. 
  a) QRSP b) SQRP 

  c) RPSQ d) PSRQ 

194. 1 : lakhs of students 
 P : on all India basis 
 Q : from all over India 
 R : which are held 
 S : appear in the examinations 
 6 : by different recruiting organizations. 
  a) PQSR b) SRQP 

  c) QSRP d) QSPR 

195. 1 : There is a fashion now-a-days 
 P : as an evil 
 Q : who is born with a silver spoon 
 R : to bewail poverty  
 S : and to pity the youngman 

6 : in his mouth. 
  a) PSQR b) RSQP 

  c) RPSQ d) SQPR 
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6- buesa ls fdls vÝhdk dk xka/kh dgk tkrk Fkk\ 

 ,½ ehj djtr  ch½ fQjkst xka/kh 

 lh½ uSYlu eaMsyk  Mh½ ,e ds xka/kh 

6. Who was popularly known as Africa’s Gandhi ? 

 a) Mir Karzat b) Firoz Gandhi 

 c) Nelson Mandela d) M.K.Gandhi 

7- ekSfyd vf/kdkj dh F;ksjh dh LFkkiuk dh Fkh% 

 ,½ gSCl  ch½ ykWd 

 lh½ cSuFkSe Mh½ ekDlZ 

7. The Theory of natural right was propounded by: 

 a) Habbes b) Locke 

 c) Bentham d) Marx 

8- fdlus dgk Fkk ^euq"; ,d lkekftd izk.kh gS*\ 

 ,½ vjLrq  ch½ :lks 

 lh½ ykLdh  Mh½ IySVks 

8. Who said “Man is a social animal” ? 

 a) Aristotle  b) Rousseau 

 c) Laski d) Plato 

9- dchj us buesa ls fdl fuEufyf[kr cksyh esa fy[kk gS\ 

 ,½ vo/kh  ch½ Hkkstiqjh 

 lh½ c`tHkk"kk  Mh½ eSfFkyh 

9. In which of the following dialects Kabir wrote ? 

 a) Awadhi b) Bhojpuri 

 c) Brijbhasa d) Maithili 

10- vatrk dh dykd`fr esa D;k n'kkZ;k x;k gS\ 

 ,½ jkek;.k  ch½ egkHkkjr 

 lh½ tkrd dFkk,a  Mh½ iapra= 

10. What do the paintings of Ajanta depict? 

 a) Ramayana  b) Mahabharta 

 c) Jatakas d) Panchatantra 
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11- fdl jkT; dh ljdkj us ^rkulsu lEeku* 'kq: fd;k\ 

 ,½ mÙkjizns'k  ch½ eè;izns'k 

 lh½ xqtjkr  Mh½ egkjk"V 

11. The govt. of which of the following states started the “Tansen Samman”? 

 a) Uttar Pradesh b) Madhya Pradesh 

  c) Gujarat d) Maharashtra 

12- vkj ds y{e.k dk fu/ku 26-01-2015 dks gqvk] os Hkkjr ds ,d tkus&ekus ------Fks\ 

 ,½ dkVwZfuLV  ch½ varfj{k oSKkfud 

 lh½ dFkdyh urZd  Mh½ ik'oZ xk;d 

12. R.K.Laxman died on 26.-1.2015 was a leading  ……. of India. 

 a) Cartoonist b) Space Scientist 

 c) Kathakali Dancer d) Playback Singer. 

13- Hkkjr ,d x.kra= gS] D;ksafd 

 ,½ ;s ,d yksdrkaf=d ns'k gS 

 ch½ ;s ,d lalnh; yksdra= gS  

 lh½ ns'k izeq[k dks ,d fu/kkZfjr vof/k ds fy, pquk tkrk gS 

       Mh½ ;s lHkh 

13. India is a republic because 

 a) it is a democratic Country 

 b) it is a parliamentary democracy 

 c) the head of the state is elected for a definite period 

  d) All of these, 

14- Hkkjrh; naM lafgrk dh 'kq:vkr -----------------esa gqbZ% 

 ,½ 1858  ch½ 1860 

 lh½ 1859  Mh½ 1862 

14. Indian Penal Code came into operation in 

 a) 1858 b) 1860 

 c) 1859 d) 1862 
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177. We should guard against our green eyed friends. 
 a) rich b) jealous 

 c) handsome d) enthusiastic  

178. Rahul fought tooth and nail to save his life. 
 a) with weapons b) as best as he could 

 c) using unfair means d) with strength and fury 

179. The popularity of the yesteryears’ superstar is on the wane.
 a) growing more b) at its peak 

 c) growing less d) at rock bottom 

180. The sight of the accident made my flesh creep.
 a) worried me b) frightened me 

 c) confused me d) drew my attention 

Directions (Question no. 181 to 190): 
In the following passage there are blanks each of which has been numbered. The options are given against 
the respective numbers below the passage. Please fill them choosing the appropriate word:- 

 One of the major causes of the failure of ……81…. Countries on economic front is their …82…… 

to evolve a judicious mixture of ....83….. substitution and export promotion. Zambia which ….84…. on 

imports after its independence twenty years …85…. has depleted 50% of its national ….86……, whereas 

South Korea, which started its ….87…. development from a war ravaged status …88…. the fifties by 

equalizing high exports ….89….. high imports, is one of the ….90… nations today. 

181. a) developed b) developing  c) advanced  d) advancing 

182. a) inability b) disadvantage c) incapacity  d) handicap 

183. a) Scientific b) invention  c) export  d) import 

184. a) expected b) traded  c) banked  d) carried 

185. a) later  b) ago   c) earlier  d) since 

186. a) capital b) deposit  c) income  d) credit 

187. a) financial b) fiscal  c) economic  d) economical 

188. a) upto  b) over   c) on   d) in 

189. a) our  b) with   c) and   d) into 

190. a) richest b) innovative  c) prolific  d) advancing 
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156. Docile:  a) Vague b) gentle  c) stupid  d) steel born  
157. Hybrid: a) crossbred b) pedigreed  c) hackneyed  d) unusual 
158. Latent:  a) concealed b) apparent  c) lethargic  d) prompt 
159. Erotic:  a) wandering b) given to mistakes c) difficult  d) amorous 
160. Aromatic: a) crippled b) fragrant  c) sentimental  d) stinking 

Directions (Question no. 161 to 170): 
Pick out the word opposite or nearly opposite in the meaning of the given words:- 
161. Accepted: a) followed b) rejected c) provided d) considered  

162. Anger:  a) party b) happiness c) approval d) joy 

163. Loved:  a) refused b) defamed c) distracted d) hated 

164. Obey:  a) attract b) disobey c) repel d) diffuse  

165. Come:  a) play  b) fast  c) go  d) got 

166. Hard:  a) soft  b) smooth c) delicate d) easy 

167. Wealthy: a) wicked b) famous c) ill  d) poor 

168. Dull:  a) pale  b) wise  c) bright d) foolish 

169. Opaque: a) translucent b) vague c) transparent d) blind 

170. Extrovert: a) boaster  b) miser c) introvert d) social 

Directions (Question no. 171 to 180): 
Choose the correct meaning of the idioms given in italics in the sentences:- 
171. The boy turned a deaf ear to the pleadings of all his well wishers. 
 a) listened carefully b) deadly opposed 

 c) posed indifference d) did not pay any attention 

172 We should give a wide berth to bad characters. 
 a) keep away from b) publicly condemn 

 c) give publicity to  d) not sympathize with 

173. Sumit had to look high and low before he could find his scooter key. 
 a) nowhere b) always 

 c) everywhere d) somewhere 

174. You may rush from pillar to post, but you stand no chance of getting what you want without a bribe. 
 a) be very busy b) rush in all direction  

 c) go to all post boxes and post offices d) go to many offices and post letters 

175. At a party, he was in high spirits
 a) talkative b) cheerful 

 c) drunk d) uncontrollable 

176. She rejected his proposal of marriage point blank.
 a) directly b) pointedly 

 c) absurdly d) briefly 
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15- Hkkjrh; lafo/kku esa fdrus vuqPNsn gSa\ 

 ,½ 395  ch½ 396 

 lh½ 398  Mh½ 399 

15. How many Articles are there in the Indian Constitution? 

 a) 395 b) 396 

 c) 398 d) 399 

16- ^O;fDr cny ldrs gSa] ijUrq fu;e ugha cnyus pkfg,* fdldk fl)kar gS\ 

 ,½ jktra=okn  ch½ laoS/kkfud ljdkj  

 lh½ vfyf[kr lafo/kku  Mh½ x.kjkT; 

16. “Persons may change but rules should not change” is the principle of  

 a) Absolute Monarchy b) Constitutional Government 

 c) Unwritten Constitution d) Republic 

17- buesa ls dkSu ^ewyHkwr vf/kdkjksa* dk laj{kd gS\ 

 ,½ fo/kkf;dk  ch½ dk;Zikfydk 

 lh½ jktuhfrd ny  Mh½ U;k;ikfydk 

17. Which one of the following is the guardian of “Fundamental Rights”? 

 a) Legislature b) Executive 

 c) Political Parties d) Judiciary  

18- ,f'k;k dh lcls yEch unh dkSu lh gS\ 

 ,½ flU/kq  ch½ ;kaXRts 

 lh½ g~okax gks  Mh½ xaxk 

18. The longest river in Asia is : 

 a) Indus b) Yangtze 

  c) Hwang Ho d) Ganga 

19- ÅapkbZ esa c<+ksrjh ds dkj.k okrkoj.kh; ncko ds lkFk D;k gksrk gS\ 

 ,½ ;s leku jgrk gS   ch½ ;s ?kVrk gS 

 lh½ ;s c<+rk gS  Mh½ ;s yxkrkj ?kVrk&c<+rk gS 

19 What happens to atmospheric pressure with increase in altitude? 

 a) It remains constant b) It decreases 

 c) It increases d) It constantly fluctuates. 
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20- dSVjhuk uke fn;k x;k gS--------------- 

 ,½ mixzg  ch½ u{k=   

 lh½ ghVoso  Mh½ gjhdsu 

20. Katrina is a name given to ----------- 

 a) Satellite b) Star 

 c) Heat wave d) Hurricane  

21- vka/kzizns'k vkSj mM+hlk ds rVh; bykds vDlj buesa ls ,d ds dkj.k izkd`frd vkinkvksa dks >syrs gSa% 

 ,½ pØokr  ch½ Hkwdai 

 lh½ Hkw&L[kyu  Mh½ VkWjusMks 

21. Coastal Andhra Pradesh and Orissa often face natural disasters due to  

 a) Cyclones  b) Earthquakes 

 c) Landslides          d) Tornadoes   

22- vkink izca/ku dk cqfu;knh y{; gksrk gS---------------------dks ?kVkuk% 

 ,½ e`R;q  ch½ {kfr 

 lh½ tksf[ke  Mh½ [krjk 

22. The primary goal of disaster planning is to reduce 

 a) Death b) Damage 

 c) Risk d) Vulnerability  

23- Hkkjr dk ekud le; gksrk gS% 

 ,½ th,eVh ls 5-30 ?kaVs vkxs ch½ th,eVh ls 4-30 ?kaVs ihNs  

 lh½ th,eVh ls 4-00 ?kaVs vkxs Mh½ th,eVh ls 5-30 ?kaVs ihNs 

23. The Standard time of India is  

 a) 5 ½  hours ahead of GMT b) 4 ½ hours behind of GMT 

 c) 4 hours ahead of GMT d) 5 ½ hours behind of GMT 

24- Fkkj ,DlizSl buesa ls fdl ns'k tkrh gS% 

 ,½ vQxkfuLrku  ch½ ckaXykns'k  

 lh½ ikfdLrku  Mh½ E;kuekj 

24. The Thar Express goes to: 

 a) Afghanistan b) Bangladesh 

 c) Pakistan d) Myanmar 
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141. The ties that bind a family together are …….. that they can hardly with stand any strain. 
 a) tenacious b) twisted 

 c) tenuous  d) tentative  

142. The Stenographer is very efficient, he is …….. to his firm. 
 a) a credit b) a blessing 

 c) an asset d) a boon  

143. The young man lost his way in the forest and found that he had become a/an …….to the dacoits.  
 a) enemy b) adversary 

 c) decoy d) quarry 

144. He sold his property because he was under a lot of …………….. 
 a) account b) debt 

 c) loan d) credit 

145. He was an ……who was fond of weird pets.  
 a) ambitious b) amiable 

 c) eccentric d) emotional 

146. He bought new shoes last month but they are already ………………out. 
 a) given b) gone 

 c) knocked d) worn 

147. He knew everything better than anybody else, and it was an affront to his ………vanity that you 
should disagree with him. 

 a) overwrought b) overwhelming 

 c) over weaning d) overstoring 

148. The Govt. is confident that the standard of living will begin to ………again soon. 
 a) revive b) lift 

 c) flourish d) rise 

149. The communists represent the …… of everything noble we have inherited from our culture and 
history.

 a) antagonism b) immorality 
 c) antidote d) antithesis  
150. The bureaucrat was ………….for his role in the seam. 
 a) reinstated b) criticized 
 c) indicted d) indited  

Directions (Question no. 151 to 160): 
Against each key word are given some suggested meanings. Choose the word or phrase which is nearest in 
the meaning to the key word. 
151. Lethargy: a) serenity b) listlessness   c) impassivity   d) laxity 
152. Prognosis: a) scheme b) forecast  c) preface  d) identification 
153. Emaciated: a) very tall b) very sleepy  c) very thin  d) very aged 
154. Contract: a) tract  b) expand  c) give   d) abridge 
155. Inedible: a) unfit for human consumption b) Polluted 
   c) vitiated      d) eatable 
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129. Due to bad weather the number of ships crossing the channel last weeks is very small. 
 a) are being b) are 

 c) were d) was 

130. Roads are wet it must had rained last night. 
 a) must have been b) might had 

 c) would have been d) must have 

Directions (Question no. 131 to 150): 

Fill in the blanks appropriately:- 
131. I congratulate you ………………..your success. 
 a) on b) for 
 c) at  d) in  
132. I prefer seeing the film ……..reading  
 a) than b) to 
 c) over d) as 
133. I could not ………what he wanted to say 
 a) make up b) make out 
 c) make in d) make away 
134. A committee has been set up to ………on the problem of terrorism in this region. 
 a) investigate b) inquire 

 c) research d) report 

135. We can’t eat this food; it is …………. 
 a) rotten b) old 

 c) bad d) rancid  

136. Keats and shelley were poets of the same period; they were………….. 
 a) Contemporary b) colleague 

 c) associate d) co-writers 

137. His English was roughly ………….with my Hindi, so communication was rather difficult. 
 a) at par b) in time 

 c) in accordance with  d) in true 

138. The soldiers were instructed to ……….restraint and handle the situation peacefully. 
 a) exercise b) control 

 c) prevent d)enforce  

139. My friend took his first pay to the bank to ………….it in his account. 
 a) deposit b) deficit 

 c) debit d) demote   

140. Family planning is essential for curbing the rapid ……..in population. 
 a) spread b) increase 

 c) spurt  d) any want 
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25- daputaxk dgka fLFkr gS\ 

 ,½ usiky  ch½ flfDde 

 lh½ if'pe caxky  Mh½ fgekpy izns'k 

25. Kanchanjunga is situated in 

 a) Nepal b) Sikkim 

 c) West Bengal d) Himachal Pradesh 

26- ikWd tyMe:eè; fdUgsa chp ls vyx djrk gS\ 

 ,½ Hkkjr vkSj ikfdLrku  ch½ Hkkjr vkSj E;kaekj   

 lh½ Hkkjr vkSj Jhyadk  Mh½ Hkkjr vkSj vQxkfuLrku 

26. Palk strait separates  

 a) India &Pakistan b) India & Myanmar 

 c) India & Srilanka d) India & Afghanistan 

27- dsjy ls laca/k j[kus okys rV dks dgk tkrk gS% 

 ,½ dksad.k rV  ch½ ekykckj rV 

 lh½ dksjkseaMy rV  Mh½ dukjk rV 

27. The coast that belongs to Kerala is known as 

 a) Konkan Coast b) Malabar Coast 

 c) Coromondel Coast  d) Canara Coast 

28- tksftyk ikl vkil esa fdls tksM+rk gS\ 

 ,½ Jhuxj vkSj ysg   ch½ v:.kkpy izns'k vkSj frCcr   

 lh½ pEck vkSj Lihfr   Mh½ dfyeikax vkSj Ygklk 

28. The Zojila pass connects: 

 a) Srinagar & Leh 

 b) Arunachal Pradesh & Tibet   

 c) Chamba & Spili 

 d) Kalimpong & Lhasa 

29- buesa ls fdl unh dk mn~xe Hkkjr ls ckgj gS\ 

 ,½ czãiq=  ch½ C;kl  

 lh½ jkoh  Mh½ >sye 
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29. Which of the following rivers has its source outside India? 

 a) Brahmapurta b) Beas 

   c) Ravi d) Jhelum 

30- nqfu;k dh lcls yEch unh gS% 

 ,½ xaxk  ch½ uhy  

 lh½ czãiq=  Mh½ vestu 

30. The longest river in the world is  

 a) Ganga b) Nile  

 c) Brahamputra d) Amazan 

31- jokaMk dh jkt/kkuh gS\ 

 ,½ fycjsfoy  ch½ cxksVk 

 lh½ fdxkyh  Mh½ dksisugsxu 

31. The capital of Rwanda is : 

 a) Libreville b) Bogota 

 c) Kigali d) Copenhagen  

32- jSaM fdl ns'k dh jkt/kkuh gS\ 

 ,½ ukehfc;k  ch½ bZjku 

 lh½ jksekfu;k  Mh½ ukWosZ 

32. Rand is the currency of : 

 a) Namibia b) Iran 

 c) Romania d) Norway 

33- buesa ls fdls ^bVjuy flVh* Hkh dgk tkrk gS\ 

 ,½ yanu  ch½ jkse  

 lh½ ,Fksal  Mh½ cfyZu 

33. Which of the following is also known as “Eternal City?” 

 a) London b) Rome 

 c) Athens d) Berlin 

34- fdl ns'k dks ^dkWdfiV vkWQ ;wjksi* dgk tkrk gS\ 

 ,½ csfYt;e  ch½ fLoV~tjySaM 

 lh½ uhnjySaM~l  Mh½ yXtecxZ 
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116 Why you do not told him/  and / clarify all/ pending matters. 
  a)          b)            c)          d) 

117. He very promptly / withdrew the marks/ made by him/ on any office note. 
  a)       b)    c)      d) 

118. No one will deny/ that sarla is one/ of the most well dressed girl/ in our office. 
  a)  b)   c)                   d) 

119. He was extremely annoyed / when I reported/ the matter to him/ and has fired me. 
     a)        b)   c)            d) 

120. The director along with/ the staff members/ were present for/ the annual day celebrations. 
  a)    b)            c)              d) 

Directions (Question no. 121 to 130): 
Which of the words/ phrases, a), b), c) and d) should replace the word(s)/Phrase)s) given in italics in each of 
the following sentences so as to make them most effective and meaningfully correct. 
121. Can this machine be adopted in farm works? 
 a) by b) into   

 c) for d) to  

122. When the Prime Minister said this, we know whom he was eluding to.
 a) reffering b) alluding  

 c) hinting  d) suggesting  

123. The weather was not good, it was a bit pleasant.  
 a) a little b) to some extent 

 c) fairly d) rather 

124. He lives in a remote colony since August, 1989. 
 a) is living b) has been living 

 c) has lived d) continues to live 

125. When we reached the site of the crash, we saw only three alive men in the wreck 
 a) living b) lively 

 c) live d) breathing 

126 Hardly had she entered the Police Station then all officers stood up. 
 a) than b) when 

 c) before d) since 

127. Do how I say. 
 a) which b) that 

c) as  d) like 

128. Stop taking drugs lest you are caught.
 a) might be caught                                 b) will be caught 

 c) may be caught                                               d) would be caught
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106. Which one of the following statements is not implied in the passage?  
 a) People needlessly blame science for war. 
 b) Science is misused for destructive purposes
 c) Neither science not the weapons add to the horrors of war 
 d) The role of science in ensuing world peace is subsidiary to that of man. 

107. Which of the following is opposite in meaning to the word “anarchy” in the passage 
 a) Law and order 
 b) Political dominance  
 c) Economic prosperity  
 d) Communal harmony   

108. The phrase “our work has scarcely begun” implies that our work 
 a) has not yet begun 
 b) has only just begun 
 c) has been half way through 
 d) has begun, but not yet completed  

109. The expression “keep us abreast” in the passage means 
 a) Keep at a distance 
 b) Keep side by side 
 c) Hold out a challenge 
 d) Prevent from escaping 

110. Which of the following would be the most suitable title for the passage 
 a) Science and Social forces 
 b) Science and the horrors of war 
 c) Science and world peace 
 d) Science and the new generation 

Directions (Question no. 111 to 120):
Find out error, if at all, in any part of the following sentences:- 
111. My friend did not see me/ for many years/ when I met him last weeks / no error. 
  a)   b)   c)               d) 

112. It is incumbent / with all the students/ to abide by the college rules/ No error 
  a)     b)    c)          d) 

113. The bus collided / but no body was hurt/ in the accident/ No error 
  a)  b)   c)             d) 

114. By all standards/ he is a best soldier/ in our military school/ No error 
  a)  b)   c)        d) 
115. While going to his office yesterday/Bhola remembered that/ he had not taken/ one important office 

file 
  a)                  b)      c)            d) 
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34. Which country is known as the “Cockpit of Europe” :- 

 a) Belgium b) Switzerland  

 c) Netherlands d) Luxem bourg  

35- vaR;ksn; dk;ZØe tqM+k gqvk gS% 

 ,½ ca/kqvk etnwjksa dks Lora= djkus ls  

 ch½ Hkkjr esa lkaLd`frd Økafr ykus ls  

 lh½ VSDlVkby Jfedksa dh ekaxksa ls 

 Mh½ lcls xjhc yksxksa ds mRFkku ls 

35. Antyodaya Programme is associated with: 

 a) Liberation of bonded labour 

 b) Bringing up cultural resolution in India. 

 c) Demands of textile labours 

 d) upliftment of the poorest of the poor. 

36- Hkkjrh; fjtoZ cSad dkSu ls jkT; ljdkj ds dkedkt ls tqM+k ugha gS\ 

 ,½ ukxkySaM  ch½ vle  

 lh½ tEew &d'ehj  Mh½ jktLFkku 

36. RBI does not transact the business of which of the following State Government? 

 a) Nagaland b) Assam 

 c) J& K d) Rajasthan 

37- dkSu lk elkyk ewY; ds fglkc ls] Hkkjr ls lcls T;knk fu;kZr gksrk gS\ 

 ,½ dkyh fepZ  ch½ yky fepZ 

 lh½ gYnh  Mh½ byk;ph 

37 As an export item of India which spice occupies the top position in value? 

 a) Pepper b) Chillies 

 c) Turmeric d) Cardamom  

38- Hkkjr ljdkj dh dkSu lh ;kstuk,a Hkkjr ds 'kgjksa dks efyu cfLr;ksa ls eqDr djkus ds fy, gSa\ 

 ,½ bafnjk vkokl ;kstuk  ch½ dsUnzh; xzkeh.k LoPNrk dk;ZØe  

 lh½ jktho vkokl ;kstuk  Mh½ vaR;ksn; 

38. Which of the schemes of the Government of India makes Indian cities free from slums?  

 a) Indira Awas Yojna b) Central Rural Sanitation Programme 

 c) Rajiv Awas Yojna d) Antyodaya 
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39- Hkkjrh; vFkZO;oLFkk buesa ls D;k gS% 

 ,½ fefJr vFkZO;oLFkk  ch½ lkE;oknh vFkZO;oLFkk 

 lh½ iwathoknh vFkZO;oLFkk Mh½ dsUnzhd`r vFkZO;oLFkk 

39. Indian economy is a : 

 a) Mixed economy b) Communistic economy  

 c) Capitalistic economy d) Centralized economy 

40- Hkkjrh; LVsV cSad dk uke igys Fkk% 

 ,½ bEihfj;y cSad vkWQ bafM;k  ch½ dsujk cSad  

 lh½ flafMdsV cSad   Mh½ dks&vkWijsfVo cSad vkWQ bafM;k 

40. State Bank of India was previously known as  

 a) Imperial Bank of India b) Canara Bank 

 c) Syndicate Bank d) Co-operative Bank of India 

41- Hkkjrh; fjtoZ cSad dk jk"Vªh;dj.k gqvk Fkk\ 

 ,½ 1949  ch½ 1951  

 lh½ 1947  Mh½ 1935 esa 

41. Reserve Bank of India was nationalized in 

 a) 1949 b) 1951 

 c) 1947 d) 1935 

42- tc dksbZ ,d Øsrk vkSj vusd foØsrk gksrs gSa] rks og fLFkfr dgykrh gS% 

 ,½ ,dkf/kdkj  ch½ ,dy Øsrk vf/kdkj  

 lh½ iw.kZvf/kdkj      Mh½ nksgjk Øsrk vf/kdkj 

42. When there is one buyer and many sellers then that situation is called  

 a) Monopoly b) Single buyer right 

 c) Downright  d) Double buyer right  

43- fdlh oLrq dh ekax iwjh rjg fuHkZj djrh gS% 

 ,½ [kjhnus dh bPNk ij  ch½ [kjhnus dh 'kfDr ij  

 lh½ dj uhfr ij  Mh½ foKkiu ij 

43. Demand of commodity mainly depends upon 

 a) Purchasing will  b) Purchasing power 

 c) Tax policy d) Advertisement 
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(GENERAL ENGLISH) 

Directions (Question no. 1 to 10) : 

Read the following passage and give the answer to the questions appropriately:-

 The greatest   enemy of mankind, as people have discovered, is not science, but war. Science merely 
reflects the prevailing social forces. It is found that, when there is peace, science is constructive, when there 
is war; science is perverted to destructive ends. The weapons which science gives us do not necessarily 
cause war; they make war increasingly terrible. Till now, it has brought us to the doorstep of doom. Our 
main problem, therefore, is not to curb science, but to stop war-- to substitute law for force, and international 
government for anarchy in the relations of one nation with another. That is a job in which every body must 
participate, including the scientists. But the bombing of Heroshima suddenly woke us up to the fact that we 
have very little time. The time is running out and our work has scarcely begun. Now we are face to face with 
an urgent question --- Can education and tolerance, understanding and creative intelligence run fast enough 
to keep us abreast with our own mounting capacity to destroy? That is the question which we shall have to 
answer one way or the other in this generation Science must help us in arriving at the answer, but the main 
decision lies within ourselves. 

101. According to the writer, the real enemy of mankind is not science but war, because 
 a) Science merely invents the weapons with which war is fought. 

b) Science during wars becomes destructive.   
c) The weapons that science invents necessarily lead to war. 
d) The weapons invented by science do not cause war, though these make it more destructive. 

102. War can be stopped if 
 a) Science is not allowed to lead us to utter destructive. 
 b) We replace force and Lawlessness by Law and international govt. 
 c) Science is restricted to be utilized only during war time. 
 d) Weapons invented by science are not used to launch a war. 

103. According to the writer, the main problem we are faced with is to 
 a) Stop science from reflecting social forces. 
 b) Stop scientific activities everywhere 
 c) Abolish war 
 d) Prevent Scientists from participating in destructive activities 

104. Our mounting sagacity to destroy can be kept under control by 
 a) Encouraging Social forces 
 b) Education and broad- mindedness  
 c) Insight and constructive thinking 
 d) Both b) and c) together 

105. The expression “bring to the doorstep of doom”means 
 a) Carry close to death and destruction  
 b) Lead to the threshold of a new destiny 
 c) Indulge in a ruinous activity 
 d) Introduces to an unpredictable destiny 
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97- ^ekbZ ykbQ* fdldh vkRe dFkk gS\ 

 ,½ uSYlu eaMsyk  ch½ fcy fDyaVu 

 lh½ ekxZjsV FkSpj       Mh½ ts ,e fyaxnksg 

97. Whose autobiography is “My Life”? 

 a) Nelson Mandela b) Bill Clinton 

 c) Margaret Thatcher         d) J.M. Lyngdoh 

98- buesa ls dkSu lh iqLrd ,ihts vCnqy dyke us fy[kh gS\ 

 ,½ MSoyfiax bafM;k 

 ch½ lkbal bt VqMst bafM;k  

 lh½ fMQSal lSVvi bu bafM;k 

 Mh½ xkbfMax lksy  

98. Which of the following books is written by A.P.J.Abdul Kalam? 

 a) Developing India 

 b) Science is Today’s India  

 c) Defence Set up in India 

      d) Guiding soul  

99- buesa ls fdlus laLd`r O;kdj.k fy[kh\ 

 ,½ dkyhnkl  ch½ pjd 

 lh½ ikf.kuh  Mh½ vk;ZHkV~V 

99. Who among the following wrote Sanskrit grammer: 

 a) Kalidasa b) Charaka 

  c) Panini d) Aryabhat 

100- ^ykbQ fMokbu* iqLrd ds ys[kd gSa\ 

 ,½ xka/kh 

 ch½ VSxksj 

 lh½ jk/kkd`".ku 

 Mh½ Jh vjksfcanks 

100. “Life Divine” is a book written by 

 a) Gandhi b) Tagore 

 c) Radhakrishnan d) Sri Aurobindo 
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44- ^czsd bou ikWbaV* og gksrk gS%  

 ,½ tc U;wure jktLo cjkcj gksrk gS U;wure ykxr ds 

 ch½ tc vkSlr jktLo cjkcj gksrk gS vkSlr ykxr ds 

 lh½ dqy jktLo cjkcj gksrk gS dqy ykxr ds 

 Mh½ buesa ls dksbZ ugha 

44. The “break-even-point” is where 

 a) marginal revenue equals marginal cost   

 b) average revenue equals average coast 

 c) total revenue equals total cost 

 d) none of these 

45- bafMdk fdlus fy[kh\ 

 ,½ vkbZ&flax  ch½ eSxLFkuht 

 lh½ Qk&fg;ku  Mh½ gq,u lkax 

45. Who wrote “Indica”? 

 a) I-tsing b) Magasthenes 

c) Fa-Hien d) Hiuen Tsang 

46- la;a= vkSj e'khujh gksrs gSa% 

 ,½ mRiknd dk lkeku  ch½ miHkksDrk dk lkeku  

 lh½ fMLVªhC;wVj dk lkeku Mh½ eqDr lkeku 

46. Plant & Machinery are: 

 a) Producers’ goods b) Consumers’ goods 

 c) Distributers’ goods     d) Free goods 

47- buesa ls D;k vkfFkZd fodkl dk ,d csgrj iSekuk gS\ 

 ,½ ldy ?kjsyw mRikn  ch½ [kpZ djus yk;d vk;  

 lh½ 'kq) jk"Vªh; mRikn Mh½ izfr O;fDr vk; 

47. Which of the following is a better measurement of economic development? 

 a) GDP 

 b) Disposable income 

 c) NNP 

 d) Per capita income  
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48- ^D;wjh* fdl pht dh bZdkbZ gS\ 

 ,½ jsfM;ks,fDVfoVh  ch½ rkieku  

 lh½xehZ  Mh½ ÅtkZ 

48. “Curie” is unit of: 

 a) Radioactivity b) Temperature 

 c) Heat d) Energy 

49- buesa ls fdldk bLrseky vksou esa fd;k tkrk gS\ 

 ,½ ,Dl&jst  ch½ ;woh jst 

 lh½ ekbØksosOl  Mh½ jsfM;ks osOl 

49. Which of the following is used in oven? 

 a) X-rays b) UV rays 

 c) Microwaves d) Radio waves 

50- ikuh esa Mwch phtksa dks <wa<+us ds fy, fdl midj.k dk iz;ksx fd;k tkrk gS\ 

 ,½ jMkj  ch½ lksukj 

 lh½Doktkj  Mh½ iYlj 

50. Which apparatus is used to locate a submerged object? 

 a) Radar b) sonar 

 c) Quasar d) pulsar 

51- buesa ls fdl pht ls 'kjhj T;knk tyrk gS\ 

 ,½ ugkus ds ikuh ls   ch½ xeZ ikuh ls 

 lh½ Hkki ls       Mh½ fi?kyrs fge[kaM ls 

51. Which of the following produces more burns? 

 a) Bathing water b) Hot water 

 c) Steam d) Melting iceberg   

52- èofu buesa ls fdlesa ls ugha xqtj ldrh gS\ 

 ,½ ikuh  ch½ LVhy 

 lh½ gok  Mh½ oSD;qe 

52. Sound can not pass through 

 a) Water b) Steel 

 c) Air d) Vacuum 
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92- fel ;wfuolZ vokWMZ ikus okyh lcls igyh Hkkjrh; efgyk dkSu Fkh\ 

 ,½ jhrk Qkfj;k  ch½ ,s'o;Z jkW; 

 lh½ ykjk nÙkk  Mh½ lqf"erk lsu 

92. Who was the first Indian Woman winner of Miss Universe Award? 

 a) Reeta Faria b) Aishwarya Rai 

 c) Lara Dutta d) Sushmita Sen 

93- 2014 esa fdl Hkkjrh; us ,d ukscy 'kkafr iqjLdkj thrk Fkk\ 

 ,½ dSyk'k lR;kFkhZ  ch½ osdsaV jke.k 

 lh½ jked`".ku  Mh½ enj Vsjslk 

93. Which Indian won a Nobel Peace Prize in 2014? 

 a) Kailash Satyarthi  b) Venkat Raman 

 c) Ram Krishnan  d) Mother Teresa 

94- buesa ls dkSu lh jfoUnz ukFk VSxksj dh d`fr ugha gS\ 

 ,½ fp=k  ch½ diky dqaMy 

 lh½ n dksVZ Mkalj  Mh½ fp=kaxnk 

94. Which among  the following is not a work of Rabindra Nath Tagore? 

 a) Chitra b) Kapala Kundala 

  c) The Court Dancer d) Chitrangda 

95- ^mÙkj jkepfjr* ds ys[kd gSa\ 

 ,½ g"kZ  ch½ rqylhnkl 

 lh½ HkoHkwfr  Mh½ fl)kFkZ 

95. “Uttar Ramcharit” has been written by :- 

 a) Harsha b) Tulsidas 

 c) Bhavabhuti d) Shidhartha 

96- ^n xkWM vkWQ LekWy fFkaXl* dks fy[kk gS\ 

 ,½ iqiqy tSdj  ch½ 'kksHkk Ms 

 lh½ 'ks[kj diwj        Mh½ v:a/kfr jkW; us 

96. The book “The god of small things” is written by : 

 a) Pupul Jayakar b) Sobha De 

 c) Shekhar Kapoor d) Arundhati Roy 
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87- ukscsy 'kkafr iqjLdkj iznku djus ls tqM+k lekjksg fdl 'kgj esa gksrk gS\ 

 ,½ LVkWdgkse  ch½ vkWLyks 

 lh½ ftusok  Mh½ n gsx 

87. In which city is the presentation ceremony of Noble Peace Prize held? 

 a) stockholm b) Oslo  

 c) Geneva d) The Hague   

88- xzSeh iqjLdkj fdl {ks= esa fn;k tkrk gS\ 

 ,½ lkfgR;  ch½ laxhr 

 lh½ foKku        Mh½ vkfo"dkj vkSj [kkst 

88. Grammy Award is given in the field of  

 a) Literature  b) Music 

  c) Science d) Inventions & Discoveries 

89- ^gkQ , ykbQ* iqLrd ds fy, cqdj izkbt fdls feyk Fkk\ 

 ,½ v:a/kfr jkW;  ch½ vuhrk nslkbZ 

 lh½ oh ,l usikWy  Mh½ fdj.k csnh 

89. Who received Booker prize for the Book “Half a Life”? 

 a) Arundhati Roy b) Anita Desai  

 c) V.S.Naipaul d) Kiran Bedi 

90- lcls igyk Hkkjr jRu iqjLdkj fdls feyk Fkk\ 

 ,½ tokgj yky usg:    ch½ xksfoan cYyHk iar 

 lh½ ch lh jkW;   Mh½ lh oh jkeu 

90. The first recipient of Bharat Ratna was 

 a) Jawahar Lal Nehru b) Govind Vallabh Pant 

 c) B.C.Roy   d) C.V.Raman  

91- lcls igyk Hkkjr jRu e`R;q i;Zar fdls feyk Fkk\ 

 ,½ ch vkj vEcsMdj  ch½ ds dkejkt 

 lh½ yky cgknqj  'kkL=h Mh½ ,e th jkepUnzu 

91. Who was the first posthumous recipient of Bharat Ratna? 

 a) B.R.Ambedkar b) K.Kamraj 

 c) Lal Bahadur Shastri d) M.G.Ramachandran 
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53- vaxksjk Åu buesa ls fdlls feyrh gS\ 

 ,½ [kjxks'k  ch½ HksM+ 

 lh½ ykseM+h  Mh½ cdjh 

53. Angora wool is extracted from 

 a) Rabbit b) Sheep 

 c) Fox d) Goat 

54- buesa ls dkSu lh chekjh efgykvksa dks] iq:"kksa ds eqdkcys T;knk vklkuh ls vlj djrh gS\ 

 ,½ gkVZ vVSd  ch½ gSisVkbfVl 

 lh½ tkWbaV vFkZjkbfVl  Mh½ vFkZjkbfVl 

54. Which of the following diseases affects women easily than men? 

 a) Heart attack b) Hepatitis 

 c) Joint arthritis  d) Arthritis   

55- ekuo 'kjhj esa MhgkbMªs'ku ;kuh futZyhdj.k dh voLFkk buesa ls fdldh deh ls gksrh gS\ 

 ,½ foVSfeu  ch½ lkYV 

 lh½ gkWeksZu  Mh½ ikuh 

55. Dehydration in human body is caused due to the loss of  

 a) Vitamins b) Salts 

 c) Hormones d) Water 

56- isM+ dh mez buesa ls fdlds tfj;s r; dh tkrh gS\ 

 ,½ eksVkbZ  ch½ ÅapkbZ        

 lh½ fodkl n'kkZus okys NYys    Mh½ lkekU; MhyMkSy 

56. The age of the tree is determined by its: 

 a) Girth b) Height 

 c) Growth rings d) General appearances  

57- buesa ls dkSu lcls fo'kky thfor i{kh gS\ 

 ,½ phy  ch½ eksj 

 lh½ 'kqrqjeqxZ  Mh½ fdoh 

57. Which of the following is the largest living bird? 

 a) Eagle b) Peacock 

 c) Ostrich d) Kiwi 
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58- ekuo 'kjhj esa buesa ls dkSu lh pht lcls vf/kd gksrh gS\ 

 ,½ vkWDlhtu  ch½ dkcZu 

 lh½ vk;ju  Mh½ ukbVªkstu 

58. The element which is the most abundant in the human body is  

 a) Oxygen b) Carbon 

 c) Iron d) Nitrogen 

59- buesa ls dkSu lh [kkus dh pht esa vk;ju T;knk gksrk gS\ 

 ,½ pkoy  ch½ lsc  

 lh½ nkysa  Mh½ larjk 

59. Which of the following food items is rich in iron? 

 a) Rice  b) Apple 

 c) Pulses d) Orange 

60- 'kjhj dk dkSu lk vax dHkh vkjke ugha djrk\ 

 ,½ vka[k  ch½ iSafØ;kt@vXU;k'k;  

 lh½ ftxj  Mh½ g`n; 

60. Which organ of the body never rests?  

 a) Eyes b) Pancreas 

 c) Liver d) Heart 

61- Xywdksek buesa ls fdldk jksx gS\ 

 ,½ Ropk  ch½ QsQM+s 

 lh½ ftxj  Mh½ vka[ksa 

61. Glaucoma is disease of the  

 a) Skin b) Lungs 

 c) Liver d) Eyes 

62- ge buesa ls fdl dkj.k tEgkbZ ysrs gSa\ 

 ,½ [kwu esa dkcZuMkbZvkWDlkbM ds vf/kd teko ds dkj.k 

 ch½ QsQM+ksa esa dkcZuMkbZvkWDlkbM ds vf/kd teko ds dkj.k 

 lh½ QsQM+ksa esa vkWDlhtu ds vf/kd teko ds dkj.k 

 Mh½ buesa ls dksbZ ugha 
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82- Hkkjr esa mixzg iz{ksi.k dsUnz dgka fLFkr gS\ 

 ,½ vgenkckn  ch½ gklu 

 lh½ JhgfjdksVk  Mh½ FkqEck 

82. Where is the satellite launching centre of India located? 

 a) Ahmadabad b) Hassan 

 c) Sriharikota d) Thumba 

83- HkkHkk ,VkWfed fjlpZ lSaVj ¼ch,vkjlh½ dgka fLFkr gS\ 

 ,½ fnYyh  ch½ eqEcbZ 

 lh½ psUubZ  Mh½ gSnjkckn 

83. Bhabha Atomic Research Centre (BARC) is situated in:- 

 a) Delhi b) Mumbai 

 c) Chennai d) Hyderabad 

84- Hkkjrh; ukSlsuk ds izeq[k dk jSad gksrk gS\ 

 ,½ Hkkjrh; ukSlsuk dk tujy ch½ Hkkjrh; lsuk dk izeq[k 

 lh½ ukSlsuk izeq[k  Mh½ ,Mfejy 

84. The Chief of the Indian Navy has the rank of  

 a) General of Indian Navy  b) Chief of Indian Navy 

 c) Naval Chief d) Admiral 

85- XykbMjksa dks viuh mM+ku ds nkSjku buesa ls fdl ,uthZ dh vko';drk iM+rh gS\ 

 ,½ foaM ,uthZ  ch½ bySfDVªy ,uthZ  

 lh½ ghV ,uthZ   Mh½ dSfedy ,uthZ 

85. Gliders depend on the following energy for their flight: 

 a) Wind energy b) Electrical energy 

 c) Heat energy d) Chemical energy 

86- buesa ls fdldks ukscsy izkbt vkSj Hkkjr jRu] nksuksa gh iqjLdkj feys gSa\ 

 ,½ egkRek xka/kh  ch½ jfoUnz ukFk VSxksj 

 lh½ enj Vsjslk     Mh½ iafMr tokgj yky usg: 

86. Who among the following is an awardee of both the Nobel Prize and the Bharat Ratna? 

 a) Mahatma Gandhi b) Rabindra Nath Tagore    

 c) Mother Teresa     d) Pt. Jawahar Lal Nehru 
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77- lSDlVSaV midj.k dk bLrseky buesa ls fdl dke ds fy, fd;k tkrk gS\ 

 ,½ xk;ukdksykWth  ch½ uSfoxs'ku 

 lh½ cFkZ daVªksy  Mh½ bykt 

77. Sextant is an instrument used in which of the following 

 a) Gynaecology b) Navigation 

 c) Birth control d) Medical Treatment 

78- ,;jQkslZ ,dSMeh buesa ls fdl 'kgj esa gS\ 

 ,½ gSnjkckn  ch½ dks;EcVwj 

 lh½ dkdhukM+k  Mh½ eqEcbZ 

78. Air Force Academy is located in 

 a) Hyderabad b) Coimbatore  

 c) Kakinada d) Mumbai 

79- pUnzek ij ekuo dks mrkjus okyh Lisl'kVy dk D;k uke Fkk\ 

 ,½ bZxy  ch½ dksyfEc;k 

 lh½ pSysatj  Mh½ viksyks 

79. What was the name of the Space Shuttle that landed man on the moon? 

 a) Eagle b) Columbia 

 c) Challenger d) Apollo 

80- ^Hkkjrh; felkby VSDukWykWth dk firkeg* fdls dgk tkrk gS\ 

 ,½ MkW- ;w vkj jko  ch½ MkW- , ih ts vCnqy dyke  

 lh½ MkW- fpnEcje  Mh½ MkWDVj gkseh HkkHkk 

80. Who is known as “the father of Indian Missile Technology”? 

 a) Dr. U.R.Rao b) Dr. A.P.J. Abdul Kalam  

 c) Dr. Chidambaram d) Dr. Homi Bhabha 

81- ^vfXu* buesa ls D;k gS\ 

 ,½  ,d QkbVj foeku  ch½ ,d cgqmi;ksxh VSad  

 lh½ ,d yEch nwjh dh felkby Mh½  ,d yEch nwjh dh canwd 

81. Which one of the following correctly describes AGNI? 

 a) A Fighter plane b) A versatile tank  

 c) A Long-range missile  d) A Long range gun  
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62. Yawning occurs due to  

 a) Excess concentration of  CO2  in blood. 

 b) Excess concentration of  CO2  in lungs 

 c) Excess concentration of  O2  in lungs 

 d) None of these 

63- buesa ls D;k foVSfeu ch&12 dk ,d Hkjiwj lzksr gS\ 

 ,½ dktw  ch½ nw/k 

 lh½ lsc  Mh½ rjcwt 

63. Which of the following is a rich source of Vitamin B-12? 

 a) Cashew nut  b) Milk 

 c) Apple d) Watermelon 

64- bZ&esy dh vo/kkj.kk fdlus fodflr dh Fkh\ 

 ,½ fcy xsV~l  ch½ vkFkZj lh DykdZ  

 lh½ js VkWe fyUlu  Mh½ lchj HkkfV;k 

64. Who developed the concept of e-mail 

 a) Bill Gates b) Arther C. Clark 

 c) Ray Tom Linson d) Sabir Bhatia 

65- fdlh laxBu ds ifjp;kRed osc ist dks D;k dgrs gSa\ 

 ,½ iksVZy  ch½ oksjy 

 lh½ gkseist  Mh½ oSclkbV 

65 What is an organisation’s introductory webpage called?  

 a) Portal b) Voral 

 c) Homepage d) web site  

66- cM+s laxBu ftl lapkj uSVodZ dk bLrseky {ks=h;] jk"Vªh; ;k varjkZ"Vªh; {ks= esa djrs gSa] mls dgk 
tkrk gS% 

 ,½ ,y , ,u  ch½ MCY;q , ,u 
 lh½ ,e , ,u  Mh½ oh , ,u 
66. A communication network which is used by large organization over regional, national or global area 

is called: 

 a) LAN b) WAN 

 c) MAN d) VAN 
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67- psrkus okyh oSclkbV fodh yhDl fdl ns'k esa ekStwn ,d varjkZ"Vªh; laxBu gS\ 

 ,½ vesfjdk  ch½ fczVsu 

 lh½ LohMu  Mh½ ukWosZ 

67. Wiki leaks, a whistle blowers website, is an international organization based on : 

 a) USA b) U.K. 

 c) Sweden d) Norway  

68- buesa ls D;k ,d ^gkMZos;j* ugha gS\ 

 ,½ fpi  ch½ fizaVj 

 lh½ ekml  Mh½ tkok izkslSlj 

68. Which of the following is not a “Hardware”? 

 a) Chip b) Printer 

 c) Mouse d) Java Processor 

69- fdlh dEI;wVj esa jSe dk D;k eryc gksrk gS\ 

 ,½ jsMh Vq ,Dlsl eSejh  ch½ jhM ,V , Vkbe eSejh  

 lh½ jSaMe ,Dlsl eSejh  Mh½ jsfMyh vosyscy eSejh 

69. In a computer, what does RAM stand for? 

 a) Ready to Access Memory b) Read At a time Memory 

 c) Random Access Memory d) Readily Available Memory  

70- Hkkjr dk lqij dEI;wVj &^ije* dgka ekStwn gS\ 

 ,½ psUubZ  ch½ iq.ks 

 lh½ cSaxyq:  Mh½ dksydkrk 

70. Where is India’s Super Computer PARAM is located? 

 a) Chennai b) Pune 

 c) Benguluru d) Kolkata 

71- Qknj vkWQ ft;kseSVªh ;kuh T;kfefr dk firkeg fdls dgk tkrk gS\ 

 ,½ ikbFkkxksjl  ch½ ;wdfyM 

 lh½ vfjLVkWVy  Mh½ dSiyj 

71. Who is known as Father of Geometry ? 

 a) Pytha- goras b) Euclid 

 c) Aristotle d) Kepler 
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72- lksyj flLVe dks fdlus [kkstk Fkk\ 

 ,½ U;wVu  ch½ tkWu gSMyh 

 lh½ fudksyl dkWijfudl Mh½ xSyhfy;ks 

72. Who discovered Solar System? 

 a) Newton b) John Hadley 

 c) Nicolous Copernicus d) Galilio 

73- fdl oSKkfud us jsfM;ks ,fDVo ,fyeSaV jsfM;e dks <wa<+k Fkk\ 

 ,½ eSjh D;wjh      ch½ vkbtSd U;wVu 

      lh½ vYcVZ vkbULVkbu      Mh½ cSatkfeu ÝSadfyu 

73. Which Scientist discovered the radioactive element Radium? 

 a) Marie Curie b) Issac Newton 

 c) Albert Einstein d) Benjamin Franklin 

74- nw/k dh 'kq)rk dks ukirk gS% 

 ,½ gkbMªksehVj  ch½ ySDVksehVj 

 lh½ LVkysxksehVj  Mh½ FkeksZehVj 

74. The purity of milk is determined by 

 a) Hydrometer b) Lactometer  

 c) Stalagometer d) Thermometer 

75- fjDVj Ldsy buesa ls fdls ukius ds fy, bLrseky fd;k tkrk gS\ 

 ,½ èofu dh xfr dks   ch½ rjy dh l?kurk dks  

 lh½ Hkwdai dh rhczrk dks Mh½ gok dh ueh dks 

75. Richter scale is used for measuring:-  

 a) Velocity of  sound   b) Density of liquid 

 c) Intensity of earth quake d) Humidity of air 

76- ,sfrgkfld oLrqvksa dk laj{k.k fdl foKku esa fd;k tkrk gS\ 

 ,½ vkbdkWuksxzkQh  ch½ U;wfeleSfVd 

 lh½ E;wft;ksykWth  Mh½ ,fixzSQh 

76. Preservation of historical articles is done in Science of  

 a) Iconography  b) Numismatic  

 c) Museology d) Epigraphy  


